=> restart
Ky

O e e e——
s +s+1

;> with(inttrans)
> f:= expand(invlaplace(F, s, t))

1
-t

1
-=t
f=e 2 cos(%\/?t) —%e 2 ﬁsin(%\/?t)
(> FF = laplace( 1, t, s)
FF:=+
i s +s+1
| > restart

> Ecua:=y"+3y'+2y=2-exp(4-x) +x 4 sin(2-x)

Ecua = d—2 y(x) 43 (iy(x)) +2y(x) =2 +x +sin(2x)
dx dx

> Condlni == y(0) =4, D(») (0) =-6
CondIni :=y(0) =4,D(y)(0)=-6

;> with(inttrans) :
> EcuaTL = subs({CondIni}, {laplace(Ecua, x, s) })

EcuaTL = 1§ laplace(y(x),x,s) —6 —4 s+ 3 slaplace(y(x), x, s) + 2 laplace(y(x), x, s)

_ 2 +£+ 2
s—4 s & +4

=> SolTL = expand(isolate( EcuaTL[ 1], laplace(y(x), x, ) ))

SolTL = laplace(y(x), x,s) = —— 2 +— 6 y
(S +3s+2) (s —4) (s +3s+2)s
2 45 n 6

+
i (52+3s+2) (s2+4) S +3s5+2 S +35+2
> SolPart = invilaplace(SolTL, s, x)

— _ 4l ax vy o4 45 9 2 1 3 21 3
SolPart := y(x) A e "+8e¢ + 15 e 2 1 + ) X+ 4 X 20 cos(2 x)
L sin(2 x)

20

B Comprobar := eval(subs(y(x) =rhs(SolPart), lhs (Ecua) — rhs(Ecua) =0))
Comprobar :=0=0

B ComprobarDos = y(0) =simplify(subs(x =0, rhs(SolPart)))

ComprobarDos :=y(0) =4

=> CondIni[1]
! »(0) =4
> ComprobarTres = D(y) (0) =simplify(subs(x =0, rhs(diff (SolPart, x))))
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> Condini[2]

100 1
80

60

40 1

20

ComprobarTres :=D(y)(0) =-6

=-6

=> plot([rhs(SolPart), rhs(diff (SolPart, x) )], x=-1.5..1.5)

=> restart

(> Condini = i(0) =0

| > with(inttrans) :

> EcuaTL = subs(CondIni, laplace(Ecua, t, s))
EcuaTL :=3 s laplace(i(t), t,s) + 10 laplace(i(t),t,s) =

> SolTL = isolate( EcuaTL, laplace(i(t),t,s))
SolTL = laplace(i(t), t,s) =

1 1.5

> Ecua = 3-diff (i(t),t) +10-i(t) =Heaviside(t —2)-120-cos(60-Pi-¢)
Ecua:=3 (% i(t)) + 10 i(¢) = 120 Heaviside(z — 2) cos(60 m )

CondIni =i(0) =0
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| > SolPart := simplify(inviaplace(SolTL, s, t) ) :
> plot(rhs(SolPart), t=1.9..2.1)
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